Revision 2 –Provisions, Contingent Liabilities, Contingent Assets (HKAS 37) and Events after Reporting Period (HKAS 10)
Answer 1

(a)

HKAS 37 requires that the measurement of a provision be the best estimate of the expenditure required to settle the present obligation at the balance sheet date and that the amount of a provision should be the present value of the expenditure expected to be required to settle the obligation if the effect of the time value of money is material.

One of the difficulties in measuring the amount of the provision is that judgement of the enterprise’s management is required. The estimates of outcome and financial effect are determined by this judgement based on:

(i)
the enterprise’s experience in similar transactions;

(ii)
opinions or reports from independent experts;

(iii)
additional evidence provided by events after the reporting period.

Moreover, it is difficult to determine the appropriate discount rate for the purpose of counting the effect of the time value of money. However, HKAS 37 does not provide clear guidelines on this, except that the discount rate adopted:

(i)
should be a pre-tax rate;

(ii)
should reflect current market assessments of the time value of money and the risks specific to the liability; and

(iii)
should not reflect risks for which future cash flow estimates have been adjusted.

(b)(i)

Under HKAS 37, a provision should be recognised when the following conditions are met:

(i)
an enterprise has a present obligation as a result of a past event – the present obligation to settle the loan defaulted by the subsidiary is caused by the guarantees provided by Ramy Limited for its subsidiary.

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation – on 30 April 2004, it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation, i.e. the loan defaulted by the subsidiary.

(iii)
a reliable estimate can be made of the amount of the obligation – the amount of the borrowings outstanding, at the time the subsidiary is declared bankrupt, is probably is the best estimate of the obligation to settle the default on the loan.

Since the above conditions are met, the outstanding amount of the borrowings guaranteed by Ramy Limited should be recognised on 31 March 2004. The accounting entries should be:

	
	Dr ($)
	Cr ($)

	Income statement
	1,300,000
	

	Provision for loan guarantee
	
	1,300,000


(b)(ii)

HKAS 37 states that contingent assets usually arise from unplanned or other unexpected events that give rise to the possibility of an inflow of economic benefits to the enterprise. Based on the legal advisor’s advice, a favourable settlement is probable, but not virtually certain. Therefore, the past event – that is, the breach of contract of its business partner – does not give rise to a contingent asset because it does not provide evidence that an inflow of economic benefits to the enterprise is virtually certain. In accordance with HKAS 37, a contingent asset is disclosed where an inflow of economic benefits is probable. Therefore, Ramy should not recognize any contingent asset but should disclose the nature of the contingent asset at the balance sheet date and an estimate of its financial effect, where practical.

(b)(iii)

Under HKAS 37, a provision should be recognised when the following conditions are met:

(i)
an enterprise has a present obligation as a result of a past event – the decision to close the division has been communicated to the customers and employees; this is an obligating event which creates a valid expectation that the division will be closed.

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation – therefore, the resource outflow relating to the costs of carrying out the division’s closure is probable.

(iii)
a reliable estimate can be made of the amount of the obligation – since the redundancy notices were sent to the division’s staff and assuming the redundancy plan has already been fixed, the management of Ramy Limited should be able to estimate the amount of redundancy costs reliably.

Since the above conditions have been met, Ramy is required to make a provision for the redundancy costs of $3 million at the balance sheet date:

	
	Dr ($)
	Cr ($)

	Income statement
	3,000,000
	

	Provision for redundancy
	
	3,000,000


Answer 2
(a)

In accordance with HKAS 37, provisions are liabilities of uncertain timing and amount. Provisions are recognized as liabilities because:

· They are present obligations (legal or constructive) as a result of the past event;

· It is probable that an outflow of resources will be required to settle the obligations; and

· A reliable estimate can be made of the amount of the obligation.

However, contingent liabilities are not recognized as liabilities under HKAS 37 because they cannot meet either one of the recognition criteria for a provision.

(b)

HKAS 37 defines a constructive obligation as an obligation that derives from an enterprise’s actions where the enterprise has indicated to the other parties that it will accept certain responsibilities and, therefore, a valid expectation on those other parties is created. There should be valid expectation in employees, the lessor of the factory, customers and suppliers that a formal restructuring would be carried out because an announcement of the detailed plan of closure of certain line of business has been made and management showed clear intention to carry out this plan. As a result, the provision to be made in relation to the parties concerned includes the following:

(i)
Employees – compensation for redundant employees ($880,000) and claims for unfair dismissal ($150,000) should be provided but these should not include the costs of relocating and retaining staff.

(ii)
Lessor of the factory – provision should be made for the penalty for the unexpired lease terms on factory premises ($450,000) because this is a present obligation under the current contract.

(iii)
Customers and suppliers – compensation or penalties or possible claims for breach of purchase or sales contracts ($420,000) should be provided as the company expects such claims from customers and suppliers.

The disposal of any assets, including inventories and plant, arising from the factory closure in October 2004 is a non-adjusting post balance sheet event if the sales contracts were made after the year end. This is because the loss on disposal of assets for $560,000 will not affect the financial position as of 30 September 2004. However, the loss amounts to 12.8% ($560,000/$4,375,000) of the profit after tax. The amount of loss on disposal is material and may require disclosure in the notes to the financial statements under HKAS 10.

According to HKAS 10, provision should be made for the loss of $560,000 on sale of plant and inventories after the year end only if a binding sale agreement was entered into before the year end. This is because the binding sale agreement indicates the price that the buyer is willing to pay and this provides additional evidence of the value of the related assets at the year-end date. In particular, the following adjustments should be made at 30 September 2004 for this purpose:

(i)
HKAS 16 states that impairment loss should be made if the recoverable amount is lower than the written down value of the asset. In this case, the plant should be reviewed for impairment and written down to recoverable amount (i.e. the sales proceeds) in accordance with HKAS 16; and

(ii)
HKAS 2 requires that inventories should be valued at the lower of cost or net realizable value. As a result, inventories of the medical consumables should be written down to net realizable value (sales proceeds) in accordance with HKAS 2.

Under HKAS 37, the amount to be recognized as a provision should be the best estimate of the expenditure required to settle the present obligation at the balance sheet date. The estimates of outcome and financial effect are determined by the judgement of the management of the enterprise, supplemented by past experience and an expert’s report.

The over-estimation of the compensation for redundant employees by an amount of $150,000 should be reversed during 2005 once the actual liability is known. This is not an error that requires prior year adjustment in accordance with HKAS 8, and therefore, prior year adjustment is not required in this case.

In accordance with HKFRS 5, the provisions for the closure of factory and asset impairment should be grouped under discontinuing operations and disclosed separately either on the face of the income statement or in the notes to the accounts.

Answer 3
(a)

HKAS 37 defines a contingent liability as:

(i)
a possible obligation that arises from past events and whose existence is confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the entity; [2 marks] or

(ii)
a present obligation that arises from past events but is not recognized because it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation or the amount of the obligation cannot be measured with sufficient reliability. [2 marks]

HKAS 37 defines a contingent asset as:

(i)
a possible asset that arises from past events; and

(ii)
whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain events not wholly within the control of the entity. [2 marks]



(Maximum: 5 marks)

(b)

A provision for the future costs for landscaping should be made by Sea Limited [1 mark] because the following conditions have been met by 31 December 2007:

(i)
Sea Limited has a present legal obligation to have the landscaping as a result of a past event of acquiring the coal mine and its related plant; [1.5 mark]

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation because Environmental Legislation has been enforced; [1.5 mark]; and

(iii)
the amount of obligation is estimated by an expert and therefore, is reliable. [1.5 mark]

The amount recognized as a provision shall be the best estimate of the expenditure required to settle the present obligation at the balance sheet date. [1 mark] In accordance with HKAS 37, the following issues should be considered in determining the “best estimate”:

(i)
the risks and uncertainties that inevitably surround the events and circumstances; for example, effects of the mining activities on the land; [1.5 mark]

(ii)
the amount of provision shall be discounted to the present value where the effect of time value of money is material; [1.5 mark] and

(iii)
future events, for example, the changes in technology to landscape the land, that may affect the amount required to settle an obligation should be reflected in the provision. [1.5 mark]

In this case, the amount of $150,000 (already discounted to the present value), together with the unwinding of the discount of $12,000 should be the best estimate of the amount of provision of $162,000. [1.5 mark]

In accordance with HKAS 16, cost of an item of property, plant and equipment includes: its purchase price and any costs directly attributable to make it capable of operating in the manner intended by management; as well as the initial estimate of the costs of dismantling and removing the item and restoring the site as an obligation to the entity. [2 marks] Since Environmental Legislation was enforced, the estimated future costs of landscaping for $150,000 (discounted to the present value) falls within the definition of cost of property, plant and equipment and should be included in the carrying amount of property, plant and equipment. [2 marks]

The accounting entries to record this transaction are:

	
	
	$
	$
	Marks

	Dr.
	Property, plant and equipment

($162,000 / (1 + 8%))
	150,000
	
	2

	
	Finance costs accrued
	12,000
	
	1

	Cr.
	Provision for landscaping
	
	162,000
	1




(Maximum: 20 marks)

Answer 4
Material Event (1)
(a)
Despite that there is no legal obligation to clean up the pollution, the company has publicized its green production policy. There is an expectation from third parties that the company will honour its green commitment to clean up the area, and as a result, there is a constructive obligation. Further, the amount to be incurred for the clean up has been estimated to be $20m by a consultant. Therefore a provision should be made. [3 marks]

(b)
Dr
Pollution costs
$20m


Cr

Provision for pollution clean up

$20m






[2 marks]

(c)
N/A

Material Event (2)

(a)
On the date when the details of the restructuring and redundancy package was communicated to the staff concerned, a constructive obligation was created as the company has to honour all the compensation details as made known. Since the event occurred before the year end date, a provision for the compensation payment has to be made. [3 marks]

(b)
Dr
Redundancy expenses
$5.5m


Cr

Provision for redundancy

$5.5m







[2 marks]

(c)
N/A

Material Event (3)

(a)
The burglary occurred after the year end. This is a material event occurring after the reporting period but before the accounts are authorized for issue, it is a non-adjusting event after the reporting period.

In view of the materiality of the loss, the company has to make a note to the accounts to disclose the event in its financial report.






[2 marks]

(b)
N/A

(c)
Event after the reporting period
After the year end date, a burglary took place resulting in the loss of inventory with an approximate value of $26.5m. The incident has been reported to the police. Around 50% of the loss can be covered by insurance. [2 marks]

Material Event (4)

(a)
Emerald Link Ltd was being sued for infringement of copyright after year end. This is a material event occurring after the reporting period but before the accounts are authorized for issue, it is a non-adjusting event after the reporting period.

In view of the materiality of the potential financial loss, the company has to make a note to the accounts to disclose the event in its financial report.





[3 marks]

(b)
N/A

(c)
Event after the reporting period
Subsequent to the year end date, the company was sued by an overseas jewellery design company for infringement of copyright and has claimed compensation of $40m. According to legal opinion, the company does not stand a good chance of defending the case successfully. [2 marks]

Material Event (5)

(a)
This is an adjusting event after the reporting period as the information from the lawyer gives further evidence regarding the recoverability of the outstanding debt at the balance sheet date.

As the customer is in liquidation, there is a doubt of the recoverability of the debt owed to the company and full provision has to be made against the amount of $10m outstanding at year end date.

The other amount of $7.5m which represented the shipment after the year end date relates to the transaction of the following financial year and would have no effect to the current year’s financial statement. However, in view of the materiality of the amount, the company should make a note to accounts to disclose the incident.






[2 marks]

(b)
Dr
Bad debt expenses
$10m


Cr

Provision for bad debt

$10m







[2 marks]

(c)
Event after the reporting period
Subsequent to the year end date, the company was informed by an overseas lawyer that one of its major customers in the USA has commenced liquidation procedures. The company has made a shipment of $7.5m to this customer after the year end date. There is doubt as to the recoverability of this receivable. Further, full provision has been made against the debt owned by this customer at the year end date, for an amount of $10m.






[2 marks]

Answer 5
(a)

HKAS 10 defines events after the reporting period as events, both favourable and unfavourable, that occur between the balance sheet date and the date when the financial statements are authorized for issue.

For the purpose of determining how these events should be dealt with so as to provide a better understanding on the financial position of an enterprise, it is important to make a clear distinction between adjusting and non-adjusting events is:

(i)
Adjusting events – events after the reporting period that provide evidence of conditions that existed at the statement of financial position date.

(ii)
Non-adjusting events – events after the reporting period that are indicative of conditions that arose after the statement of financial position date.

An example of an adjusting event is the sale of inventories after the balance sheet date at a price below cost, as this may give evidence of the net realizable value of the enterprise’s inventories at the balance sheet date. The event after the balance sheet date allows the entity to establish the value of inventories at the balance sheet date. Under HKAS 10, an enterprise needs to adjust the amount recognised in its financial statements to reflect the adjusting event. Accordingly, the enterprise should adjust its inventory value at the year end in accordance with the rule of lower of cost or net realizable value, as specified in HKAS 2 “Inventories”, to reflect the fair value of the inventory at the year end.

An example of a non-adjusting event is inventory losses due to a fire that happened after the balance sheet date. Such an event does not provide evidence on the value of inventory at the year end; however, it will affect the financial position of the following period as the value of inventory destroyed by the fire will need to be written off in the year when the event took place. To ensure that the financial information presented is sufficient for the users of financial statements to make economic decision, HKAS 10 requires an enterprise to disclose the nature of the event and an estimate of its financial effects, or a statement that such an estimate cannot be made for such a non-adjusting event.

(b)

Brian Lee’s Company

Statement of financial position (revised) as at 31 December 2003

	Assets
	$000
	$000

	Non-current assets
	
	

	Property, plant and equipment (Note (1))
	
	420

	Current assets
	
	

	Inventories
	730
	

	Trade receivables
	1,342
	

	Investments
	178
	

	Cash and cash equivalents
	57
	

	
	2,307
	

	Current liabilities
	
	

	Trade payables
	(970)
	

	Net current assets
	
	1,337

	Net assets
	
	1,757

	
	
	

	Capital and reserve
	
	

	Issued capital
	
	1,600

	Accumulated profits
	
	157

	
	
	1,757


Explanations:

(i)
Under HKAS 2, the principle of using the lower of cost or net realizable value requires a write-down of the value of the goods by 20% ($250,000 x 20% = $50,000). The accounting entries are:

	
	Dr ($)
	Cr ($)

	Profit and loss
	50,000
	

	Inventories
	
	50,000


(ii)
Since the explosion happened after the balance sheet date, it does not affect the ability of Frank Limited to settle its outstanding balance with Brian Lee at the year end. Therefore it is not an adjusting event and no adjustment is required. However, Frank Limited’s ability to settle the balance with Brian Lee after the year end is affected by this event; therefore, this event should be classified as non-adjusting event. Since the amount of $130,000 is material in relation to the net asset value, only disclosure is required.

(iii)
Since the investment is grouped under current assets, according to HKAS 39 it should be included in the balance sheet using fair value; that is, the year-end market value in this case. Therefore, the following adjustment should be made:

	
	Dr ($)
	Cr ($)

	Profit and loss
	8,000
	

	Investments
	
	8,000


(iv)
Since the customer had not settled the outstanding balance for more than a year, their ability to repay the amount of $35,000 was probably in doubt before the year end. Debtor’s balances that are irrecoverable are an example of impairment of assets under HKAS 36. The outstanding balance of $35,000 should be written off to reflect the financial position at the balance sheet date.

	
	Dr ($)
	Cr ($)

	Profit and loss (bad debt)
	35,000
	

	Trade receivable
	
	35,000


(v)
The loss of inventories due to a fire does not affect the company’s inventory position as this event does not provide additional evidence on the value of inventories at the year-end date. However, the financial position in the next accounting year-end will be affected. Therefore, this event should be classified as a non-adjusting event and no adjustment is required for the current accounting year.
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